STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION



DIVISION 13

CONTRACT PROPOSAL SMALL BUSINESS ENTERPRISE

DATE AND TIME OF BID OPENING: MAY 5, 2021 AT 2:00 PM

CONTRACT ID: 11978069

WBS ELEMENT NO.: 13RE.101113, 13RE.101115, 13RE.101133, 13RE.101135,

13RE.201113, 13RE.201115, 13RE.201125, ETC.

FEDERAL AID NO.: STATE FUNDED

COUNTY: BUNCOMBE, BURKE, MADISION, MCDOWELL, MITCHELL,

RUTHERFORD, AND YANCEY

TIP NO.: N/A

MILES: N/A

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: MOWING, TRIMMING, AND SELECTIVE TREE REMOVAL

UPON REQUEST

NOTICE:

This is a Small Business Enterprise Program project, and as such, is restricted to businesses grossing less than \$1,500,000 during the previous calendar year (5% tolerance). A general Contractor's License is not required, and the Department's normal bonding requirements are waived, however liability insurance is required. A copy of the previous year's income tax return as evidence of qualification does not need to be submitted at this time but could be required upon notification by the Department.

Carver Contracting, LLC

NAME OF BIDDER

750 Tallulah Road, Robbinsville, NC 28771

ADDRESS OF BIDDER

RETURN BIDS TO:

N. C. DEPARTMENT OF TRANSPORTATION DIVISION OF HIGHWAYS, DIVISION 13 ATTN: DAN JOHNSON 55 ORANGE STREET ASHEVILLE, NC 28801

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number:

11978069

TIP Number:

N/A

FA Number:

N/A

WBS Element:

13RE.101113, 13RE.101115, 13RE.101133, 13RE.101135, 13RE.201113,

13RE.201115, 13RE.201125, etc.

TOTAL BID FOR PROJECT: \$171,900.00

Description:

Mowing, Trimming, and Selective Tree Removal Upon Request

County:

Buncombe, Burke, Madison, McDowell, Mitchell, Rutherford, and Yancey

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Mowing and Trimming	200	ACR	\$800.00	\$160,000.00
2	SP	Selective Tree Removal, 6"	10	EA	\$50.00	\$500.00
3	SP	Vegetation Removal at Stationary Objects	200,000	LF	\$0.05	\$10,000.00
4	SP	Additional Vegetation Removal at	10,000	SF	100	
		Stationary Objects	4557		\$0.14	\$1,400.00

Contractor: Graham County Land Company	TTE Carver Contracting LL(J
Address: 750 Tallaulah Road, Robbinsville, I	NC 28771
Phone: 828-479-3581	Federal Id: 27-2230858
Contractor's License Number: N/A	
Authorized Agent:James Carver	Title: _ Member
Signature:	Date: 05/04/2021

STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION



DIVISION 13

CONTRACT PROPOSAL SMALL BUSINESS ENTERPRISE

DATE AND TIME OF BID OPENING: MAY 5, 2021 AT 2:00 PM

CONTRACT ID:

11978069

WBS ELEMENT NO.: 13RE.101113, 13RE.101115, 13RE.101133, 13RE.101135,

13RE.201113, 13RE.201115, 13RE.201125, ETC.

FEDERAL AID NO.: STATE FUNDED

COUNTY: BUNCOMBE, BURKE, MADISION, MCDOWELL, MITCHELL,

RUTHERFORD, AND YANCEY

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: MOWING, TRIMMING, AND SELECTIVE TREE REMOVAL

UPON REQUEST

NOTICE:

This is a Small Business Enterprise Program project, and as such, is restricted to businesses grossing less than \$1,500,000 during the previous calendar year (5% tolerance). A general Contractor's License is not required, and the Department's normal bonding requirements are waived, however liability insurance is required. A copy of the previous year's income tax return as evidence of qualification does not need to be submitted at this time but could be required upon notification by the Department.

Lovin Equipment and Sales, Inc.

NAME OF BIDDER

P.O. BOX 1060 ROBBINSVILLE, NC 28771

ADDRESS OF BIDDER

RETURN BIDS TO:

N. C. DEPARTMENT OF TRANSPORTATION DIVISION OF HIGHWAYS, DIVISION 13 ATTN: DAN JOHNSON 55 ORANGE STREET ASHEVILLE, NC 28801

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number: 11978069

TIP Number: FA Number:

N/A N/A

WBS Element:

13RE.101113, 13RE.101115, 13RE.101133, 13RE.101135, 13RE.201113,

13RE.201115, 13RE.201125, etc.

Description:

Mowing, Trimming, and Selective Tree Removal Upon Request

County:

Buncombe, Burke, Madison, McDowell, Mitchell, Rutherford, and Yancey

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Mowing and Trimming	200	ACR	3,500,00	100,000 W
2	SP	Selective Tree Removal, 6"	10	EA	250,00	2,500,00
3	SP	Vegetation Removal at Stationary Objects	200,000	LF	,12	24,000,00
4	SP	Additional Vegetation Removal at Stationary Objects	10,000	SF	.12	1,200.00

TOTAL BID FOR PROJECT:_	4727,100,00
	,

Contractor: Lovin Equipment and Sales,	Inc.
Address: P.O. BOX 1060 ROBBINSVILI	_E, NC 28771
Phone: (828) 479-9462	Federal Id: 06-1676329
Contractor's License Number: N/A	
Authorized Agent: Haley W. Lovin	Title: PRESIDENT
Authorized Agent: Haley W. Lovin Signature: Haley W. Lovin	Date: <u>4/29/2021</u>